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QUESTION 1

(i) Multiple Choice Questions: [1 MARKS QUESTION]

CHAP 8

1. By selling 50 items, a shopkeeper lost the amount equal to the selling price of 10 items. His loss

percent is
a. 30/7% b. 40/3 % c. 25/3 % d. 50/3 %

. After allowing a discount of 15 % on the marked price of a pen-drive, it is sold for Rs 680. The
marked price of the article is
a. Rs700 b. Rs 600 c. Rs 800 d. Rs 750

. Sachin purchases a bat for Rs 660 including sales tax. If the rate of sales tax is 10 %, then the selling
price of the bat is
a. Rs580 b. Rs 590 c. Rs 600 d. Rs 610

4. The buying price of 5 kg guava, at the rate Rs 20 per kg with 5 % sales-tax on the purchase, is
a. Rs 22 b. Rs 23 c.Rs 24 d. None

5. A sum is taken for 2 year at 16 % per annum, if interest is compounded after every three months, the

number of times for which interest is charged in 2 year is
a.8 b. 4 C.6

CHAP9

l.a(b+c)=ab+acis

a. commutative property b. closure property

c.distributive property d. associative property
2. The product of a monomial and binomial is a
a. binomial b. monomial c. trinomial

3. In a polynomial, the exponents of the variables are always




a. integers b. non-positive integers

C. non negative integers d. None
4. Which of the following is a binomial?

a. 13XbXb b. 6b% + 7a + 2c c. 45 (b + a) d. 13a X 3b X 5¢
5. Sum of 17abc, 13abc and 5abc is

a. 35ab b. 30abc c. 35abc
Chap 11

1. If the height of a cylinder becomes % of the original height and the radius is doubled, then which of the
following will be true?

a. Volume of the cylinder will be doubled. b. Volume of the cylinder will remain unchanged
c. Volume of the cylinder will be halved d. Volume of the cylinder will be ¥ of the original
2. Volume of a cube is 216 cm?, its surface area is
a. 108 cm? b. 216 cm? c. 512 cm? d. 128 cm?

3. A cube of side 4 cm is cut into 1 cm cubes. What is the ratio of the surface areas of the original

cubes and cut-out cubes?
a 1:2 b. 1:3 c.1:4 d.1:6

4. The perimeter of a trapezium is 104 cm and its each non parallel side vis equal to 40 cm with its

height of 16 cm. its area is
CHAP 12

1. In 3", nis known as
a. base b. constant C. exponent . variable
. 5 can be written as
a. 1/5 b. 1/5 c. 5° .-2/5

1 .
. The value of = is

a. 27 b. 81 c.-81 .18
. The multiplicative inverse of 10° is
a 10-100 b _101000 C 101000 _10100

. The reciprocal of (;)1 is




7
a -
3

CHAP 13

1. Both u and v directly with each other .When u is 10, v is 15, which of the following is not a
possible pair of corresponding value of uand v ?

a. 15and 20 b.2and 3 c. 25and 37.5 d. 16 and 24

. The number of teeth and the age of a person vary
Directly to each other
b. Inversely to each other
c. Neither directly nor Inversely to each other
d. Some time directly and some time inversely

If 12m uniform rod weight 42kg, then the weight of 5m rod of the same type will be
a. 16.5kg b. 15.2 kg c. 17.5 kg d. 18.2 kg

If two quantities p and q vary inversely with each other, then

a. s remains constant b. p + g remains constant

C. p X qremains constant d. p — g remains constant

5. 18 workers can do a work in 180 days. If two more workers join this work will be completed in
a. 140 days b. 150 days c. 158 days d. 162 days

CHAP: 14
1. The greatest common factor of 6a and 12b is
a. 6 b. 2 &3

. Coefficient of y in the term :32 is

-1 b. -3

. The common factor of 3ab and 2cd is

1 b.-1 C.a
4. The product of a monomial and a binomial is a
a. monomial b. binomial c. trinomial
5. Which of the following is a binomial?

a.7xaxa b. 6a® + 7b + 2c c.4ax3bx2c d. 6 (a° + b)




(i) Fill the blank: [1 MARKS QUESTION]
CHAP 8

1. is a reduction on the marked price of the article.

Answer: Discount

2. Discount = -

Answer: Marked price, selling price

3. 3500 is greater than 500 by
Answer: 600

4. Ten times a number is % increase in the number.
Answer: 900

5. If the discount of Rs 5y is available on the marked price of Rs 3x, then the discount per cent is

Answer: (i—i X 100) %

CHAP9
1. Coefficient of y in the term -13/3 y is

Answer: -13/3
2. The value of (a + b)>—(a - b)*is

Answer: 4ab

3. The product of two polynomials is a

Answer: polynomial
4. Square of (3a + 5b) is
Answer: 9a° +30ab + 25b?
5. The product of two terms with like signs is a
Answer: positive polynomial
CHAP 11

. Volume of a cylinder with the radius r and height h is
Ans: 1 r°h
. Opposite faces of a cuboid are in area.
Ans: equal
. Area of circle =
Ans: : 1 12
. A metal sheet 27 cm long, 8cm board and 1 cm thick is melted into a cube. The side of a cube is




Ans: 6cm
5. Area of arhombus = % X product of

Ans: diagonals
CHAP 12

. The multiplicative inverse of 10" is
Ans: 107"
ca® X a'f=
Ans: a°
1. _
. The value of (2—3) is equal =

. The standard form of 12345000000 is
Ans : 1.2345 X 10%

CHAP 13

Let x varies directly as y?, for y =3, x =2. If y =5 then x is
2
Ans: 5 Fy

. X andy are said to vary directly with each other, if for some positive number k,
Ans: g
If xy=10,thenxandy vary with each other.

Ans: Inversely
. When the speed remain constant, the distance travelled is proportion to the time

Ans: directly
. The perimeter of a circle and its diameter vary with each other

Ans: directly

CHAP 14
1. The product of two polynomials is a

Ans: polynomial

The common factor method of factorization for a polynomial is based on
- distributive

(x+a) (x+b)=x*+(a+b)x+
caxb

. Thevalueof (a+b)?>+(a-b)’is
: 28 + 2b°

Number of factors of (a + b)? is
12




(iii) Tell whether the statement is true or false: [1 MARKS QUESTION]

CHAP 8

1.

To calculate the growth of bacteria, if the rate of growth is known. The formula for calculation of

amount in compound interest can be used. TRUE

. CP =M P - Discount FALSE

. The sale price is regular price minus the discount. TRUE

. The cost price of 10 tables is equal to the sale price of 5 tables. Then, profit percent is 100%

FALSE
If for the principal P, rate R % and time T, the simple interest is SI and compound interest is CI.
Then, CI > SI. TRUE

CHAP 9

. The value of (a + b)> + (a - b)*is 4ab.

2. The coefficient of x? yz in the term -19x%yz is -19.

3. An equation is true for all values of its variables.
4. The value of p for 212 — 19° = 10p is 8.

5. abc + bca + cab isa monomial

CHAP 11

1.

Ans:
2.

Ans:
3.

Ans:

The area of any two faces of a cube is equal.

True
The area of any two faces of a cuboid is equal.

False
The area of a trapezium becomes 4 times if its height gets doubled.

False

. Two cuboids with equal volumes will always have equal surface areas.

False

. Volumes of a solid are the measurement of the space occupied by it.
. True

CHAP 12

1.
Ans:
2.

Ans:
3.

The multiplicative inverse of (-3)'2 is 37
False
The reciprocal of (2)3 is not equal to (%)'3

False
3829.26 =3X 10°+ 8 X 102 +2 X 101 + 9 X 10° + 2 X 10™'+6 X 102




Ans: True
4. (=0
Ans: False
5. The value of 7713 is equal to 216

Ans: False
CHAP 13

If d varies directly as t*, then we can write dt? = k, where k is some constant

Ans: False
. The population of a country and the area of land per person are in direct proportion.

Ans: False
. The distance travelled by CNG bus and the amount of CNG used are inversely proportion.

Ans: False
If 5 persons can finish a job in days, then 1 person will finish it in 2 days.

Ans: False
If x varies inversely as y and when x = 6, y =8, then for x = 8 then for x =8 the value of y is 10.

Ans: False

CHAP 14

. The difference of squares of two consecutive numbers is their sum.

Ans: True
. An equation is true for all the values of its variables.

Ans: False
. An identity is true for all values of its variables

Ans: True
. Thevalue of (a+1) (a-1) (a® + 1) is (8% + 1) is (a* + 1).
Ans: False
. The sum of areas of two squares with sides 5a and 5b is 25 (a + b) (a - b).

Ans: False

(iv) Solve: Each carry one mark: [1 MARKS QUESTION]
CHAP 8 and 9
1. If 7/3 % of a number is 147, then find the number.
2. After increasing 15 % of the price of an article. Its price is Rs 1725. Find the increased amount.
3. Find the discount ,When M.P = Rs 625 and S P = Rs 562.50
4. Convert 7:3 in to percentage.
5. What per-cent of 500 is 35?
6. Add: 7xy and -5xy




7. Subtract: 4abc from 12abc
8. Find product: -4p, 7pq
9. Find product: (a%) X (2a%)
10. Add: ab —bc, bc — caand ca—ab
CHAP 11
1. If the area of a face of cube is 20 cm?, then find the total surface area of the cube.
2. The volume of a cube is 343cm?, find its surface area.
3 The areas of two circles are in the ratio 49: 64. Find the ratio of their circumferences.
4. Find the volume of a cuboid 18m long 14 broad and 7m high.
5 The area of a rhombus is 240 cm?and one of the diagonals is 16 cm. Find the other diagonal.
CHAP 12

I. Evaluate:

M) 372 G (—4) G




(iii)

=14

(iv) (37 =3

(v) 27 :={|'.—T .'|

Ans.() (—4) =(=4) = (=) [~







(v) (37 +47 +5‘1_]:

-

-

Ty — =
i




1 Li =2

2) 4

(37447457 =
(20+15+127 [

CHAP 13
. 1. If the cost of 10 pencils is Rs 90. Find the cost of 19 pencils?

2. Amachineinasoftdrink factory fills 840 bottles in six hours. How many bottles will it fill in five hours?

Ans. Let the number of bottles filled in five hours be Xx.

Hours

Bottles

Here ratio of hours and bottles are in direct proportion




= yr= ::ﬂ =700 bottles

Hence machine will fill 700 bottles in five hours.

3. Aphotograph ofabacteriaenlarged 50,000 times attainsalength of 5cmasshownin the diagram. What is

the actual length of the bacteria? If the photographis enlarged 20,000 times only, what would be its
enlarged length?

Ans.Let Actual length of bacteria be 'a’

It is enlarged 50,000 times so 50000 x a=5cm

Actual length of bacteria

= = L cm= 10"
50000 10000

Let enlarged length of bacteria be x

cm

Length 5 x
Enlarged length | 50,000 | 20,000

Here length and enlarged length of bacteria are in direct proportion.

: _ X
50000 20000
= % 50000 = 53 20000




520000 _
50000

o —

2cm

Hence the enlarged length of bacteria is 2 cm.

4. Inamodel ofaship, the mastis9cm high, while the mast of the actual ship is 12 m high. If the length of the

ship is 28 m, how long is the model ship?

Ans.Let the length of model ship be .

Length of actual ship (in m)

Length of model ship (in cm)

Here length of mast and actual length of ship are in direct proportion.

12 28

9 x

— xx]12=28x0

Hence length of the model ship is 21 cm.




CHAp 14

1. Find the common factors of the given terms.

(i) 12x.36
(ii) 2y, 22xy
(i) 14pg. 28pg”

(iv) 2x3x* 4

(v) Babe, 24ab* 12a°b

2. Factorize the followingexpressions.
() Tx—42
(ii) 6p—12g

(i) 7a” +144

(iv) =16z +20z°

V) 200 m+30almn

3. Factorize:

() x* +xy+8x+8y

(i) 15y —6x+5v—

(iii) ax+ bx—ay—by




(iv) 13pg+15+95+25p

V) z=T+Txy—xpz

QUESTION 2
Solve: Each carry two marks:

CHAP 8 and 9

1. 72%of25studentsaregood inmathematics. Howmanyarenotgood inmathematics?

Ans. Total number of students = 25
Number of good students in mathematics =72% of 25 =

Number of students not good in mathematics = 25 - 18 =7

Hence percentage of students not good in mathematics = . x100 =28%
25

-

2. Afootball teamwon 10 matches out of the total number of matchesthey played. If their win percentage
was 40, then how many matches did they play inall?

Ans. Lettotal number of matches be .

According to question,
40% of total matches = 10
= 40% of x =10

= ﬂ}{:{:lﬂ

100

Hence total number of matches is 25.
3. Amangot10%increaseinhissalary.IfhisnewsalaryisRs.1,54,000,find hisoriginal salary.




Ans. Let original salary be Rs.100.
Therefore Newsalaryi.e.,10%increase
=100 + 10 = Rs.110

* NewsalaryisRs.110,whenoriginal salary=Rs.100 .".

100
110

New salary is Rs.1, when original salary =

100 .
New salary is Rs.1, 54,000, when original salary = —— 154000 =Rs.1,40,000

110
Hence original salary is Rs. 1, 40,000.
4. OnSunday845peoplewenttothe Zoo.OnMondayonly 169 peoplewent. Whatisthe percent decrease in
he people visiting the Zoo on Monday?
Ans. On Sunday, people went to the Zoo = 845 On
Monday, people went to the Zoo = 169

Number of decrease in the people = 845 — 169 = 676

Decrease percent = —100  =80%
845

Hence decrease in the people visiting the Zoo is 80%.

5. Add the following:

(i) ab —bc_bc —ca.ca—ab

(i) a—b+ab b—c+bec.c—a+ac

(i) 2p'g” —3pg +4.5+ T pg—3p'g’




(V) I° +m* om* +n 0 +1° + 20+ 2+ 2wl
Ans. (i) @b —bc_.bc —ca.ca—ab
ab—bc
+bc—ca
—ab +ca
0+0+ 0|

(ia—b+ab b—c+bc.c—a+ac

a—b—ab
+b —c+bc
- +c + ac

0 +0+ab+0+bc+ac]

Hence the sum if O.

Hence the sum is gh+ he +ac.

(iii) 2 plg” —3pg+4.5+Tpg—3p°g°

Epqu —3pg+4
—3p‘g-+Tpg+3

-p'g’ +4pg+9

Gv) I*+m’ om* +m 0t + 17, 2m+ 2mn+ 2nl

I+
+ mt +n
+ +n
+ 2lm+ 2w + 2nl

2042w+ 20+ 2m + 2+ 2nl

Hence the sum is

E[F: +m’ +nt +Hm+mm+al) .




6. Obtain the volume of rectangular boxes with the following length, breadth and height

respectively:
() 3a,3a Ta

(il p.4g.8r
i) v, 2%y, 2000

(ivi, 25, 3¢

Ans. (i) Volume of rectangular box

= length = breadth = height
Sax3a”xTa” =(3x3xT)(axa xa" |
105g cubic units

(ii) VVolume of rectangularbox

length = breadth = height

=2pxdgx8r=(2x4x8)( pxgxr)
= 64 pg» cubic units
(iii) Volume of rectangularbox

= length x breadth x height

=xyx2xyx1lxg”

=(1x2x2) xR XX YR Y Y|




= 4571 cubic units
(iv) Volume of rectangularbox

= length x breadth x height
=ax2bx3c=(1x2x3)(axbdxc)

= fhaghe cubic units

7. Find the product:

(i) ['c;r: ]K[ 2a* | 4a* |
3 ™y _."_9 ) -;l-.'

(ii) x| % —x"y |
\ F 10 '

-

o (=10 ) (6 ;)
() ' ——pg |X| zPq|

[
LS - LY -

(V) xxa” % % Ans.

=(2x4)(a’ =a” xa™)

® — '[J.’K.T: K_],'}{;L':]]

10 )

e




=10 e o
(i) )

LY

- _.p-q |
A J

|
|
I
4
FEAS

-10 6 3 3
—x— || pHp g ®g|
3 3 :

Ly

(V) kXX xot = T2t = X
8. Multiply the binomials:

(i) (2x+5) and (4x-3)

(i) (¥ —8) and (3y —4)

(iii) (257 —0.5m) and (2571 +0.5m |

(iv) (a+3b) and (x +5)

v) (2pg+3q" ) and (3pg—2¢" |

wi) (3

Ans.

() (2x+5)x(4x-3)




=2x(4x-31+5(4x-3)

= Qxwdx—2xx34+5xdx—5x3

= 8¢’ —6x+20x—15

= 8x’ +14x—15

(i) (yv=8)x(3y—4)=p(3y—-4)-8(3y—4)
H3p—y x4 —8x3y—8x—4

=3y? - 4y - 24y + 32

_Bo

=3y“-28y+ 32

(iii) (257 —0.5m )= (2.51 +0.5m)

2.51 %(2.51+0.5m)—0.5m x(2.51 + 0.5m)
=251x25l+ 251 x0.5m-0.5m x 2.5 - 0.5m x0.5m

= 6.25]° +1 25Mm—1.25Im—0.25m"

o] o]
i

6.251" —0.25m"
(v) (a+3b)%(x+5)=a(x+5)+35(x+5)
axx+ax5+3bxx+3bx5

ac+Sa+3bx+155

v) (2pg+347)(3pg-2¢")




2pg*(3pg—2¢")+3¢"(3pg—2¢" |

2 pg xﬁpq—ipg:x:lq: +3q: :x:ﬁpq—ﬁq: :x:l—g:
6p°g’—4pg +9pg” —6g"

= 6p°q” +3pg° - 64"
. -.-.3 4 ) -\..\..I ..- . 2
(Vi) _Ic:r‘+3.';:‘ | <4 a —=

."3 1 -ﬂ"'.l .." ' S_-.. 1
= Iﬂ‘+3|‘]‘ ;:‘{ —]--EI" _:Iﬁl‘ ;
i | i J |

S
£ = L -

- -

3 4 i ) -ﬂ"'.l R i ) ]
=—a % da”—-b" |+367 x| 4a” ——
4 \ 5 ) \ 3

- LS

3 3 2 8 5 .3 3 4,18 3
—a xda'——a x—b"+3b =d4a”—3b x—b

4 3

3at —2a°b* +124°0* —-80°

3a’ +10a°s* —8p°

Solve: Each carry three marks

1. Kamala borrowed Rs.26, 400 from a Bank to buy a scooter at a rate of 15% p.a. compounded
yearly. Whatamountwill she pay at theend of 2 yearsand 4 monthsto clear theloan?

(Hint: Find Afor 2yearswithinterestiscompounded yearly and thenfind Sl on the ohd year amount for

4
— years).

Ans. Here, Principal (P) = Rs. 26,400, Time(n) = 2 years 4 months, Rate of interest (R) = 15% p.a.

-

Amount for 2 years (A) = p :1_|_ R

100




s

26400 1o 15 = sea00(142)
100 ) 20

[
e - £y

PR 23 23
= 26400 E%; = ”64Dquﬁ-.;a

[
.

=Rs. 34,914

Interest for 4months = — = 1 years at the rate of 15% = 34914 x15x1
12 3 100

=Rs. 1745.70
Total amount = Rs. 34,914 + Rs. 1,745.70

= Rs. 36,659.70

2. Fabina borrows Rs.12,500 per annum for 3 years at simple interest and Radha borrows the same
amount for the same time period at 10% per annum, compounded annually. Who pays more interest and
by how much?

Ans. Here, Principal (P) = Rs.12, 500, Time (T) = 3 years,

Rate of interest (R) =12 % p.a.

PxR =T
100

Simple Interest for Fabina =

= 12500=12x3 =Rs. 4,500

100
Amount for Radha, P=Rs. 12,500, R=10% and 77 = 3 years

Amount (A) =

11 11 11
1[] 1[] lL"J




=Rs. 16,637.50
C.l. for Radha=A-P

=Rs. 16,637.50 — Rs. 12,500 = Rs. 4,137.50
Thus, Fabina pays more interest
= Rs. 4,500 — Rs. 4,137.50 = Rs. 362.50

3.. IborrowsRs.12, 000fromJam shedat6% perannumsimpleinterestfor2years.Had | borrowed this

sumat 6% per annum compound interest, what extraamountwould | have topay?
Ans. Here, Principal (P) =Rs.12,000, Time (T) = 2 years, Rate of interest (R) = 6% p.a. Simple Interest

P=R =T
100

1200062
100

=Rs. 1,440

Had he borrowed this sum at 6% p.a., then

Compound Interest = P "J1+£"::L _p
100 )

S

= 120000 1+-8_} —12000
100

-
£

> | —12000

a0 )

= 12000 1+

LY -

=
i

| ~12000

-

- 12000

e

= 12000x —=x—=-12000

= Rs. 13,483.20 — Rs. 12,000

= Rs. 1,483.20




Difference in both interests
= Rs. 1,483.20 — Rs. 1,440.00 = Rs. 43.20
Thus, the extra amount to be paid is Rs.43.20

4. Vasudevan investedRs.60, 000ataninterestrateof12% perannumcompoundedhalf yearly. What
amountwould he get:
(i) After 6months?

(ii) after 1year?

Ans. (i) Here, Principal (P) = Rs. 60,000, Time (n) = 6 months = 1 year(compounded half yearly)
Rate of interest (R) = 12% = 6% (compounded half yearly)

-

Amount (A) = p 'l_l_i':-

60000 1+-2_|
100

L

- "'.1

-

60000/ 1+ !
{Df!

= Rs.63,600

After 6 months VVasudevan would get amount Rs. 63,600.
(i1) Here, Principal (P) = Rs. 60,000,
Time (n) = 1 year = 2 year(compounded half yearly)
Rate of interest (R) = 12% = 6% (compounded half yearly)

Amount (A) = P :fl_,_im.: .-

60000/ 1+_°_ |
100




60000

60000

=Rs. 67,416
After 1 year Vasudevan would get amount Rs. 67,416.

5. Find the product:
@) (5—2x)(3+x)

(||)[1’+ lII —ll

(i) (@ +b)(a+5" |

iv) (2" =g |(2p+4) Ans.()
(5—-2x)(3+x)
=5x%(3+x)—2x(3+x)
c—2xx3—2xxx
—6x—2%" = 15—x—2x"
(i) (x+Ty)( Tx—

":—1, |+ 1}{| —1|




xxTx—xxy+TyxTx—Tyxy
Tx" —x+49x -Ty"
Tx +48xy—Ty"

(i) (@’ +b)(a+5")

=a x[a+b’|+bx(a+b’)

=atxa+a’xb*+bxa+bxh’
= g +ahi+ab+ b
) (7" —¢"|(2p+g)

=p: :x:[’_lp +._:;_'|—g: (2p +4q)

= px2p+pxg—g x2p—g Xq

2 +pg-2pg’ —g°

6. Simplify:

(i) [_f —5)(x+5)+25
i) (@ +5)(&° +3)+5
(iii) [_r+.-::_'][_r: —.-:_']

(v) (a+b)(c—d)+{a-b)lc+d)+2(ac+bd)




™ (x+ ) 2x+y)+(x+2v)(x—v)
(i) (x+¥){x" -+ |

(vii) (1.5x—4y| [1-31’+ 4y+3)—-45x+12y

wii) (a+b+c)(a+b—c]
(3 —5)(x+5)+25
= (x+5)—5(x+5)+25
Ans. (i)

=X Kx+x ®5-S35xx—-5x5+125

Gi) (@ +35)(5° +3)+5

=a (B +3)+5(6° +3)+5

= @t xbh tatx3+ixb £5x3+

= a*b* +3a° +55° +15+5

= a'bi+3a* +56° +20

Gii) (z+57 (e =5 )=2(t" =5 )+57 (7

= X —I¥Es+s5 5 —5 %35




= I':—:;;!.‘+:::I: —53
(Via+bd)(c—d)+(a—b)(c+d)+2(ac+bd)
=a(c—d)+b(c—d)+al(c+d)—b(c+d)+2ac+2bd
ac—ad +be—bd +ac+ad —bc—bd +2ac+2bd
ac+ac—ad +ad +bec—bec—bd —bd +2ac+2bd
= 2ac—2bd + 2ac + 2bd
dac
WMx+y)(2x+ ) +(x+2p) (x— )
=x(2x+ ¥)+v(2x+y) +x(x—y)+ 2y (x—y)

2x 0+ xy+2xy+ v Hx —xp+dxy— 2y

2Ry + 2y —ogy + 2xy + yt =2y

3Ix 4wy —

wi) (x+3) (" —x+27 |

=x(x —x+»' ) +y(x —+27 )

X —xy+xy +xy-xp +y

=x —xyv+x v+ —x 4+

- -

e S T

w




i) 15x—4y)(15x+4p+3)-45x+12yp
=15x(15x+4y+3)—4y(15x+4y+3)—45x+12y
25 4600+ 4 5x—6.0xy—16y" —12y—4 5x+12y

25x" +6.00—6.0x+4 5x—45x-161v" —12v+12v

=

2005x —16y°

(viii)a+b+cjla+b—c]

=c:r['_c:r+."i:—|:_'|+b|'_a+b—c_1+c|;a+b—cj

a +ab—ac+ab+b* —bc+ac+bec—c*
=a*t+ab+ab—ac+tac—be+be+b* —¢*

= a+b—ct+2ab
CHAP 11

1. Theshape of thetopsurface of atableisatrapezium. Find itsareaifits parallel sides are 1 mand

1.2 mand perpendicular distance between themis 0.8 m.

> B

2. Theareaofatrapeziumis34 ¢m 2 and thelength of one ofthe parallelsidesis 10 cm and its heightis 4 cm.




sl c
Find the length of the other parallel side.
3. Lengthofthefenceofatrapeziumshapedfield ABCDis120m. IfBC=48m,CD=17m and AD=40m, find

theareaof thisfield. Side AB is perpendicular to the parallel sides AD andBC.

A 40 m D

gl

CHAP 12
I. Evaluate:

M §'x5 G (57 %27 %67

-—3

-3 3
- -

2. Findthevalue of " forwhich 8™ = 572 — &7

3. Evaluate:

(i) 1y | ab

E

- - 17!
|

W (1
3 4 |

-

CHAP 13
1. Which of the following are in inverse proportion:

(i) The number of workers on a job and the time to complete the job.

(ii) Thetime takenforajourneyand the distance travelled in a uniform speed.
(iii) Areaof cultivated land and the crop harvested.

(iv) Thetime taken for afixed journey and the speed of the vehicle.

(v) The population of a country and the area of land per person.

2. Afarmer hasenoughfood to feed 20 animals in his cattle for 6 days. How long would the food last if

there were 10 more animals in his cattle?




3. Acontractorestimatesthat3personscouldrewireJasminder’'shousein4days.If,he uses4 personsinstead

ofthree, howlongshould theytaketocomplete thejob?

CHAP 14

I. Factorize the followingexpressions:

() a* +8a+16
(i) p? —10p +25
(iii) 25m° +30m +9
(iv) 49y + 841z + 36z
V) 4x* —8x+4

(vi) 1215° —88bc +16c°
2. Factorize:

(i) 4 p* —9g°

(i) 63g° =1125°

(iii) 49x* —36

(iv) 16 —144°

3. Factorize:

(i) g* —p* (i) p*—81

(|||) _.'l_.; _ |:.L + z:l; (|V) _.'l_.; _ |...-'|.'-




4. Factorize the followingexpressions:

(i) p* +6p+8

(i) g~ —10g + 21
(i) p* +6p—16

PAPER FORMATE

SECTION - A

())Choose correct option

(ii) Fill the blank

(iii) Tell whether the statement is true or false:

(1V) Solve: Each carry one marks
SECTION-B

Solve: Each carry two marks (Any four)
SECTION -C

Solve: Each carry three marks (Any one)

[1x 10 = 10]
[1x 10 = 10]
[1 X 10 = 10]

[1X 10 = 10]

[2 X 8= 16]

[3 X 8 = 24]




